Prevalence and associated factors of electrocardiographic left ventricular hypertrophy in a rural

mi’l\‘i‘ﬁ 1 Data Raw

community, central Thailand

a10U | Auls Fazden ¥ila | Code

1 id id Int

2 | date Tuiutoya Date

3 gender LA Int 1=Female
2=Male

4 age 218 (U) Int

5 Occupation DTN Int 1=Agriculture
2=Ratail/business
3=Employee
4=Government officers
5=Students
6=non-Occupation

6 status ADUANIN Int 1=Single
2=Married
3=Widow
4=Disvorced

7 | income fsulandeld Int | 1=No
2=Yes

8 |incomePmonth | nsdifisneldl nyanssuseled (LmAdiew) | Int

9 education ITAUNITANYN Int 1=Less than primary school
2=Primary school
3=Secondary school
4=High school
5=Vocational
6=Bacelor or higher

10 | health_scheme AvSnsSnyIne g Int 1.00=Universal health coverage
2.00=Government officer scheme
3.00=Social Security Scheme
4.00=others

11 | heart disease fuseadulsamla Int | 0=no 1=yes

12 | htn fiusyiRdulsamnudiulafings Int | 0=no 1=yes

13 | dmi fiusziadulsaunmnueind 1 Int 0=no 1=yes
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10U | fauUs 8azdun ¥l | Code
14 | dm2 fiuszindulsaunmmuiad 2 Int | 0=no 1=yes
15 | dp fuseinlsaledulubonas Int | 0=no 1=yes
16 | other flsaUsyaadu 1 Int | 0O=no 1=yes
17 | heat_fam fusgadulsamilaluaseuadn Int | 0=no 1=yes
18 snore fo1n15usunIU Int 0=no l=yes
19 | nobreathing wediruvindmenavnelavaendu vse e | Int | 0=no 1=yes
avfsiutummeladenaounansiu
20 | sleepy UBY N30 POUNAYADUNAITIU Int | 0=no 1=yes
21 | exercise Turae 12 Wewfinuunlagaulngvin Int | 0=no 1=yes
panARINIEnID LYl
22 | exercisePweek TneedeviusensideniuiTusedunm Int | 0=no 1=yes
23 | exercisePday TnewndeviueenmdsmeiufiseTu Int | 0=no 1=yes
24 | alcohol_drinking | Tumag 12 ifeufiriunviiufsiaiesdiuue | Int | 1=Never
anegovisely 2=Current-drinker
3=Ex-Drinker
25 | alcohol frequent anudlunishuueanased Int 1=Always
cy 2=3-4 times/week
3=1-2 times/week
4=1-2 times/month
5=Social Drinkingd
6=Never
26 | smoking Hagtuiuguyniviselal Int | 1=Never
2=Current-smoker
3=Ex-smoker
27 | smoking_first nstlgunieiAggy vim[%ﬁquw‘%lm%?ﬂuiﬂ Int | 0=no l=yes
nouRIEYIlS
28 | smoking frequen | nsdlguvideinsgu Wsaszyaufveans | Int | 0=no 1=yes
tcy quUvs UseanasTuaginu
29 | smoking_last nsslidnguudn vinudnguaeuagivinls Int | 0=no 1=yes
30 | weight it (ke) Int | 0=no 1=yes
31 | hight duea (cm) Int | 0=no 1=yes
32 | fatmass Fat mass (%) Int 0=no 1=yes
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10U | Aduus ERLGHGLL ¥ia | Code
33 | visceralfat Visceral Fat (%) Int 0=no 1=yes
34 musclemass Muscle Mass (%) Int 0=no 1=yes
35 | wc W@usaULe? Tnrnuazie (cm) Int | 0=no 1=yes
36 | nc @usauAe (cm) Int 0=no 1=yes
37 | hr FRTINTAURILR (ASIRBUNI) Int | 0=no 1=yes
38 | sysl systolic bp ASadt 1 (mmHg) Int 0=no 1=yes
39 dias1 diastolic bp Adadt 1 (mmHg) Int 0=no 1=yes
40 ecg poorR ecg: poor R wave progression Int 0=no l=yes
41 ecg bradycardia | ecg: sinus bradycardia Int 0=no l=yes
42 ecg PVC ecg: premature ventricular contraction Int 0=no l=yes
43 ecg PAC ecg: premature atrial complex Int 0=no l=yes
44 | ecg LVH SL ECG-LVH was defined as a Sokolow- Int 0=no 1=yes
Lyon voltage (SV1 + RV5/6) > 35 mm
45 ecg LVH C ECG-LVH was defined as Cornell voltage | Int 0=no l=yes
RinaVL + SV3 > 28 mm for men S in
V3 + Rin aVL > 20 mm for women
46 ecg TWI ecg: T wave inversion Int 0=no l=yes
ar ecg LAE ecg: left atrial enlargement Int 0=no l=yes
48 ecg_ischemia ecg: propable ischemia Int 0=no l=yes
49 ecg AFL ecg: atrial flutter Int 0=no 1l=yes
50 ecg Tachycardia | ecg: sinus tachycardia Int 0=no 1l=yes
51 ecg_inferiorMl ecg: inferior myocardial ischemia Int 0=no 1l=yes
52 ecg RBBB ecg: right bubdle branch block Int 0=no 1l=yes
53 lateralMI ecg: lateral wall myocardial ischemia Int 0=no l=yes
54 ecg_AVblock ecg: atriaoventricular block Int 0=no 1=yes
55 ecg RAE ecg: right atrial enlargement Int 0=no l=yes
56 ecg AF ech: atrial fribrillation Int 0=no 1l=yes
57 | LVH def ECG-LVH was defined as a Sokolow- Int 0=non-LVH
Lyon voltage and the Cornell voltage 1=LVH
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